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04 SIZ2SHAAIH E & 10,000 10,000 0
OZAN8 =3 J&tB=s8 SXME
10,000,000& 10,000
401 Al HIZL 201 Y| 5,000 15,000 A 10,000
01 Al&H| 5,000 15,000 A 10,000
OEXHFA 2249 a ZA 5,000,000& 5,000
402 IV X0l & 222,500 207,500 15,000
01 BIZtXIEAYE X (KM ) 222,500 207,500 15,000
OzsAH oz Acx 240 S XA
50,000,000 50,000
OZ&EM K& 40,000, 000€ *50/100 20,000
OF&AH s RUEH &K
600,000 *25CH 50/ 100 7,500
OFSHASMNS MACI XM
10,000, 0002 *20ha*50/100 100,000
OXAHUX MHISX =4
8,000,000 *x5ha*50/100 20,000
O&XEAHMNZL THHHH X =
10,000,000 *5ha*50/ 100 25,000
405 XHo&HF S HI 5,000 40,000 A 35,000
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OELZFY =FHl 5,000,000& 5,000
=I1EHZ2 X& 2,100,000 2,745,000 A 645,000
= 1,050,000
< 84,000
e 966,000
307 21201 A 2,100,000 2,745,000 A 645,000
= 1,050,000
< 84,000
e 966,000
02 LAFAAFEX 2,100,000 2,745,000 A 645,000
O=HIEXZ AL 2,100,000
—®IJ&8HlE XA 2,100,000, 000& 2,100,000
= 1,050,000
< 84,000
[ia 966,000
JEZdsgA=E 80,000 60,000 20,000
= 80,000
301 et d s 80,000 60,000 20,000
= 80,000
12 JIE2 43 80,000 60,000 20,000
O=HIEXAY 80,000
—dEF=sHEE 80,000,000& 80,000
= 80,000
EAMEH K& 599,931 205,000 394,931
= 419,952
s 179,979
307 QI2+0I & 599,931 205,000 394,931
= 419,952
s 179,979
02 It M AMHEE 599,931 205,000 394,931
OZHIEx= At 599,931
—E2MHEMX 2 599,931,000 599,931
= 419,952
s 179,979
RIS XA 46,714 48,750 A 2,036
= 18,686
< 8,409
[ia 19,619
402 LA X 20| H 46,714 48,750 ~2,036
= 18,686
< 8,409
s 19,619
02 QI EAIEEZ (OIS ) 46,714 48,750 N 2,036
OZHIEx= A 46,714
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= 8,000
& 2,400
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OZHIEZANY 16,000
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= 8,000
= 2,400
= 5,600
=AHI|sHYH Seeds 29 XNJA(ELTZA/Z A 50,000 52,500 A2,500
)
= 25,000
= 25,000
201 gBt2Ay| 8,000 6,000 2,000
= 4,000
= 4,000
01 AP 22| H| 8,000 6,000 2,000
O=2HIEBxZAY 8,000
—EYdHFHA 2H 8,000,000 8,000
= 4,000
= 4,000
202 044l 16,000 12,000 4,000
= 8,000
= 8,000
01 2L I 16,000 12,000 4,000
O=2HIExX ALY 16,000
—EUdHFAY 2H gRF&X 16,000, 000& 16,000
= 8,000
= 8,000
206 M = dl 6,000 0 6,000
= 3,000
= 3,000
01 X2 4| 6,000 0 6,000
OZHIEZAY 6,000
—EAAHA Nz 6,000,000 6,000
= 3,000
= 3,000
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— EAdAFA HH P 20,000,000 20,000
= 10,000
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MRESZ2 HEAH NJA(ELAH) 4,000 4,000 0
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206 M = I 4,000 4,000 0
J| 4,000
01 =4l 4,000 4,000 0
OJl=a Mg 4,000
-4 AEZ EAXHA 4,000,000 4,000
J| 4,000
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= 44,300
= 68,980
307 QI2t0| & 43,280 0 43,280
= 24,300
= 18,980
02 AI2tAMAIE E =X 43,280 0 43,280
OEHEXZAY 43,280
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20,000, 000€ *70/100 14,000
& 6,000
2 8,000
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< 18,300
= 10,980
402 SI2FXHE0| M 70,000 478,068 A 408,068
== 20,000
= 50,000
02 CIZEXIE AL EX (0| THE) 70,000 478,068 A 408,068
OEHEZAY 70,000
~RISAHTEI NBRE X
100,000, 000& *70/100 70,000
& 20,000
= 50,000
Metd=sg 38K & 3,000 2,400 600
& 600
= 2,400
201 2et2 Y| 3,000 2,400 600
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OEHIEXZAILY 3,000
—AEY=Y H2X 23
10,000 #2501 A~ x12€) 3,000
o 600
= 2,400
EEZEsHzE2 ASEEHA =2 32,000 38,000 A 6,000
= 16,000
= 16,000
301 et A= 32,000 38,000 A 6,000
= 16,000
= 16,000
12 JIEtE2 A= 32,000 38,000 A 6,000
CHEXAY 32,000
—ESsiE AEEE A=EHM 32,000,000 32,000
=} 16,000
= 16,000
SHE 2422 10,000 9,401 599
= 4,600
= 5,400
201 Lete | 8,000 8,000 0
& 4,000
= 4,000
01 AP 2t 2] d| 8,000 8,000 0
OEHIEXZ ALY 8,000
—FHEYsY FFALY ALY
800,000 *10JH 2~ 8,000
o 4,000
= 4,000
307 2Iz2t0| A 2,000 1,401 599
o= 600
= 1,400
02 QIZFE AAIRE E X 2,000 1,401 599
OEHIEXZAY 2,000
—SMSLL2C(GAP)HE 25242 X
2,000,000& 2,000
= 600
= 1,400
ZTEESS WA WA XA 23,410 0 23,410
= 11,705
& 3,511
= 8,194
307 2iz2to| A 23,410 0 23,410
= 11,705
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23,410,000 23,410
= 11,705
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= 8,194
A AS)|IBXISE- REH 300,000 0 300,000
= 150,000
= 45,000
= 105,000
402 SI2vXHE0| & 300,000 0 300,000
Fag 150,000
= 45,000
= 105,000
02 QX2 A E X (0| THH) 300,000 0 300,000
ODSEYNELEZ HAY 300,000
—dEFotZ2LIOF =HEE 4 K&
300,000,000& 300,000
Fag 150,000
& 45,000
= 105,000
= BAHAZ M 209,800 0 209,800
& 62,940
= 146,860
301 LBt A= 92,800 0 92,800
o 27,840
= 64,960
12 JIEtE2 A= 92,800 0 92,800
CHIEXZAY 92,800
—dY 2SI E(=sI}) 92,800,000 92,800
= 27,840
= 64,960
307 2Iz2t0| & 117,000 0 117,000
= 35,100
= 81,900
02 DIZFE AAIRE E X 117,000 0 117,000
OEHEXZAY 117,000
- 2g BANE(0IS, ©H)
117,000,000 117,000
= 35,100
= 81,900
SHMEHEH 24 245,966 209,660 36,306
StASAE 29 202,566 163,516 39,050
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—FEYsy 66,8002 x5 %102 3,340
—an2ER 23,380,000 *12. 3% 2,876
OMUBNEEE B2l o9y
66,8003 x8H x50 26,720
OAIDJLAI 2882 2 66,8003 x8H x50 26,720
OIS MHSHKEL o2y
66,8003 x8H x50 26,720
201 L2l 52,450 24,930 27,520
01 At 2t 2|l 5,900 5,680 220
Ogit>gH| 3,500,000& 3,500
OsgAFZALE 22t s.0t2) HE=
100,000& »4H x23] 800
O=&Hl 1,600,000& 1,600
02 2322l 46,550 19,250 27,300
oozl 5,050
— s FANE SIAH2E |FFU
1,800,000& 1,800
— 235t A | 3,250,000 3,250
OA &&= Xl 41,500
—SYHATAAE W UHLEAE X
20,000,000& 20,000
—Z2=5oteA KA 5,000,000 5,000
—1-2W& ot*A wX2el 5,000,000& 5,000
—Z0IHE |22 4,000,000& 4,000
—sol2d s 3,000,000& 3,000
—sEFAANE SIAH A2
1,500, 000& 1,500
—0ts ¢+s KA 3,000,000 3,000
202 odl 4,800 4,320 480
01 =LH YI 4,800 4,320 480
OsgAE Z2F2A 4,800,000& 4,800
206 T 2 bl 26,900 26,300 600
01 =8l 26,900 26,300 600
OFAM2e ELAEEF7Y 200,000& x53| 1,000
OLsdsAd 29 11,000, 000& 11,000
OEdAE I=2AS 22 2 40,0002 204 800
OASAEZEE 22l 6,600,000 6,600
OZ=R3% 29 5,500,000& 5,500
OXNZZ 22X 2+ 500,000& x4 4! 2,000
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401 AlEHIZL 2 0HY| 10,000 10,000 0
01 Al&H| 10,000 10,000 0

OsgAHPAIE SAEE2 10,000,000 10,000
405 XHAHFEEHI 2,000 2,000 0
01 XA 2B F S| 2,000 2,000 0
Oks: I+ Wi 2 200,000& x10& 2,000

sHAME G AL 43,400 46,144 N2, 744
101 e1214| 33,400 36, 144 N2, 744
04 JI2ZtHIZ22XNSESE S 33,400 36, 144 N2, 744

OltsZ7 Muzel Ay
66,800 10 x50 33,400
206 M = dl 10,000 10,000 0
01 X2 bl 10,000 10,000 0]
Oll=E37 MA sSXHH 2 10,000,000& 10,000
HHSHAH (sHI)I=4HH) 77,520 73,710 3,810
Jl2&ddl 77,520 73,710 3,810

Jl2AH| 77,520 73,710 3,810
201 et d| 29,520 29,010 510
01 AR 2t2l ] 29,520 29,010 510

OgstLgH(s=&2 1) 10,180,000& 10,180
OdetLg2H(sgHA ) 9,670,000& 9,670
OgetLg2H (s NS W) 9,670,000& 9,670
202 o4 H| 31,200 31,200 0
01 2L Hl 31,200 31,200 0
OBM2Y(s=22])}) 10,800,000 10,800
OBMA2YE(sgHFE) 10,200,000& 10,200
OBMA2E(sZXC) 10,200,000 10,200
203 R F & 16,800 13,500 3,300
01 JI22HEYRFAH| 4,800 3,300 1,500
OsgllsdgAE 4,800,000 4,800
04 EANSIELR2F=XH| 12,000 10,200 1,800
ORNSILREY (SES D)
3,600,000& 3,600
ORNSILREY (SHBL D)
3,600,000& 3,600
OBRANR2IEUR=XH (LN W)
4,800,000 4,800
MEES(sZI)I=4HH) 5,000,000 2,500,000 2,500,000
WEAHAN XK= 5,000,000 2,500,000 2,500,000
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JIEteI HEES 5,000,000 2,500,000 2,500,000
702 )1 SEEZS 5,000,000 2,500,000 2,500,000
0 II2d8E3 5,000,000 2,500,000 2,500,000
OgdZ sELSIAFIIS JISHES
5,000,000, 000& 5,000,000




